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COMPUTER & INFORMATION TECHNOLOGY
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PART-I
Fmife wra: Vaver [firw o : 30
Time allowed : 1/ Hogr] [Maximum Marks : 30

e () & sl Eod il dmed
Note : All Questions are compulsory and each question is of 1 mark.
(i) 3 st & srae iR W) Rl 7 st srgar &t e &
Only English version is valid in case of difference in both the languages.
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WV ettt TR

1 e el e wc

@) IR E R i

One kilobyte is equal to -
(a) 1000WE (a) 1000 bytes
- (b) 1024 (b) 1024 bytes
©) 1009w (c) . 100 bytes
(d) 1024F8 (d) 1024 bit
-2, wPgeT B ugga et IC fag foe @ IC chips used in computers are
, LGl g usually made of
(a) Lead (a) Lead
(b) Silicon (b) Silicon
(c) Chromium (c) Chromium
(d Gold (d Gold -
3. W IEEIY? MS-DOS is the name of a/an
(a) U WA (a) Application software
(b) TR | (b) Hardware
(c) e wrda (c) System software

(d) None of these
P.T.O.
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10.

frttafea & = @ mﬁfzvr fmzrr #
FEOTAREIE?

(a) Windows 98

(b) BSD UNIX

(c) MS-Office

(d Red Hot Linux

T H J-g2 HA ¥ B @ FuwE
W Bt & 2

(@) Ctrl + Alt + Del

() Ctrl + Alt + Tab

(c) Ctl+ Alt + Shift

(d) Ctd + Shift + Del

Pt & & B 1 T ST
(]

(@) Keyboard (b) Mouse

(¢) Monitor ()] Sc_a.nner
Htet gt femfenmt aren faem Feemar &
(@ Mouse (b) Logo

(¢) Hand (d Cursor
e SRR frael ¥ Wi & S
) ENU TR

(a) Chanpel (b) Buffer

(c) Register (d) Core
IR d'm 237 Fra AR dem &
T

(a) 010011111

(b) 010111011

(¢) 011101101

@ 011000001
gifvrex fe i & e &

(@) First (b) Second
(©) Third

-(d) Fourth

10.

| 2096
Which of the following is not an
example of operating system ?

(@) Windows 98
(b) BSD UNIX
(c) MS-Office

(d) Red Hot Linux

Which command is use to reboot the
computer ?

(@) Ctrl + Alt + Del
(b) Cul+ Alt+Tab
(c) Ctrl + Alt + Shift
(d) Ctrl + Shift + Del

Whlch of the following is not an
input device ?

(a) Keyboard (b) Mouse

(c) Monitor (d) Scanner

The blinking symbol on the monitor
~is called

(@) Mouse (b) Logo

(c) Hand (d) Cursor

A temporary area attached to the

CPU for I/Q operation is called .

(a) Channel (b) Buffer

(c) Register (d) Core

An octal number 237 is equal to the
binary number '
(@) 010011111
(b) 010111011
(©) 011101101

i
'

(d) 011000001

Transistors are associated with which
generation ?

(a) First-- -+ (b) Second
(c) Third . (d) . Fourth
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11.

12.

13.

14.

15.

fretfofea w MAfET R SRR YEA
#wgEa & |

(a) Data ®
(c)  Alphabet 0]

Number
Picture

Ctrl + V Wa gl &

(a) Copy - () Cut’
(c) Paste (d) Undo

FTEet TEAYH Vg gt &
(a) PTEET A &Y .

(b) T T 8

(c) HIEEt T WL It T ¥
(@) ST qer

W ST Bt v e g &
(a) Landscape

(b) Portrait

(c) Print view

(d) Page setup

B AHR TH A em g e
FISE WY ST BT &

(a) - 8HART2

" (b) Ba3ted

16.

17.

(© 123Rk72
@ 12 64

@}m«mmﬁmmm

'(a) - winword.exe

(b) word.exe
() mswotd.exe
(d) word2007.exe

e k.

e

~ (a) Website

(b) Web browser
(c) Operating system
(d) Interpreter

’
.o

11.

12,

13.

14.

15.

16.

17,

2006

Following is  changed into
information by computer after
processing o

(@) Data (b) Number
(c) Alphabet (d Picture
Ctl + V is used to

(a) Copy () Cut

(c) Paste (d Undo
File extensions are used to

(a) Name the file

(b) Identify the file

(c) Identify the file type
(d All above

By default document is printed in
(a) Landscape '

(b) Portrait

(c) Print view

(d) Page setup

The smallest and largest font size
available in font size tool is

(a) 8and72
(b) 8and64
(c) 12and 72
(d 12and 64

Which file starts MS-Word ?
(a) winword.exe o
(b) word.exe

(c) msword.exe

(d) word2007.exe

Software to view the webpage is
called |
(a) Website
(b) Web browser
(c) ~Operating system
(d) Interpreter
P.T.O.
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18,

19,

20,

21,

22,

23,

AW TR

(a) Programming language
(b) Web browser

(¢) Network protocol

(d) Scripting language

=t % @ B v w1 TR e

¥

(a) Number
(b) Character
(c) Label

(d) Date/time

T e SR A e g g

¢

(a) Satellite
(b) Bridge
(¢©) Gateway
(d) Fax

& H F12 $i & Prer g
(a) Save as dialogue box
(b) Open dialogue box

(c) Save dialogue box

(d) Close dialogue box

Cul +z P g g dfen &

(a) Undo the last action

(b) Redo the last action

(c) Add the new page

(d) Paste the
clipboard

& TIEAT ST e &
(a) Cell

(b) Paragraph
(¢) Text :
(d) xR aft

contents from

“)

18.

19,

20.

21.

22.

23.

HTML is a

(a) Programming lméuage .
(b) Web browser

(c) Network protocol
(d) Scripting language

2006

Which of the following is not a excel

datd type ?

(a) - Number
(b) Character
(c) Label

(d) Date/time

Following is used to connect similar

networks :

(a) Satellite
(b) Bridge
(c) Gateway
(d) Fax

The F12 key in word opens
(a) Save as dialogue box
(b) Open dialogne box

(©) Save dialogue box

(d) Close dialogue box ;

Ctrl + z is used to
(@ Undo the last action

- (b} Redo the last action

(c) Add the new page -
(d Paste the contents
clipboard

Border can be applied to
(@ Cell

(b) Paragraph

(c) Text

(d) Allofabove

- from



25.

26.

27.

28.

29.

. (a) Blank presentation

4’
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. wmﬁaﬁmaﬁweﬁqw

3 by gt e
(a) View-slide sorter
(b) View-slide

(c) View-master

(d) View-slideshow

wﬁﬁ%mﬁwﬁmaim%'

(b) From existing presentation
(c) From design template
(d) U Wit

&7 vz o e I ¥ IR W WA
e & ,

(a) Accessing

(b) Referencing

(c) Updating

(d) Functioning

Text  AEY ¥ W g &
(@ ! (b) #
© $ @ &
G o HET e &

(a) Nested function

(b) Round function -

(c) Sum function
(d) Text functlon

;mﬂmmmaﬁwmﬁ

- (a) Machine language

(d)

30.

(b) Assembly language
(c) High level language
IR T

AT W OERE I F AR R
Pruifter e ot wren A A E 2
(a) ISOC ) W3iC
(c) IEEE - (d) IETE

g

25.

26,

27.

28.

29,

30,

2006

To see all the slides on one screen in
PowerPoint use

(a) View-slide sorter

(b) View-slide

(c) View-master

@) View-slideshow

A new presentation can be created from
(a) Blank presentation

(b) From existing presentation

(¢) From design template

(d) All of above

Getting data from a cell located in a
different sheet is called

(@) Accessing

(b) Referencing

() Updating

(d) Functioning

Concatenation of text can be done
using
(@ !
© 8

) #

d &

A function inside a function is called
(a) Nested function

(b) Round function

(¢) Sum function

(d Text function

A programming language that uses
binary codes are called

(a) Machine language

(b) Assembly langnage
(c) High level language
(@ Al of the above

Which of the following 6rgatﬁzat10ns
looks at standards for representation

of data on the internet ? ’
(a) 1ISOC b) W3C
(c) IEEE d IE

P.T.O.
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Te: () s o o e o o e e )
No‘te : Question No. 1 is compulsory, answer any five questions from the remaining.

(ii) 5 5T B @ ST ) AR O ey e W |
Solve all parts of a question consecutively together.
(iii) 7eF 7o B 73 75 & ARST P
, Start each question on a fresh page.
(iv) T amret & s win @) Rafer o sigott srame ft e d 1

Only English version is valid in case of difference in both the languages.

1. Ffafee #t oftafe wifhe

Define the following :

() CPU%wH
Functions of CPU

() SRRE % Ty
Virus Identification.

(ili) Ty TEY 3
wWW

(v) o€ T
Wordpmcess‘m'v

(v) WET : o e

6) | R.T.O.



.... los'

2 o
(i)
3. @
(ii)
4. (1)
(ii)
5. @
(i)
6. ()
(ii)

P .
. Viagor T

)

" 'Perform the following conversions :

(@ (234),5=( )

®) BBO=( )

(c) (256)g=( )y

TR ¥ SO AR B TN |

Explain the block (logical) diagram of computer.

frifiee wmgd, doitg wiftrand wnfke #ifwe
Perform following binary arithmetic operations :
(8 (1011101), + (110101),
(b) (111010), - (101101),
(c) (1010110),%T 2’s complement.
Find 2's complement of (1010110),
W, et T W v ) T |
Explain the scanner, printer and flash drive.

St faew war & 2 W TER AR |
What is operating system ? Explain its types..
wer 47er way R et =t wawed |
Explain the Control panel and Recycl¢ Bin.

fyrgior XP ¥ 51 Wil & wwwne |

Explain the main components of Windows-XP.

QO ) T e & 7 e ¥ fafte ones @ T |

What is need of information ? Explain the various qualities of information.

wreerd ar & 7 e e e areerd e |
What is password ? Explain different passwords for security.
e g ¥ 7 g deRor ¥ faftr el o v |

What is MODEM ? What are different Data Transmission Media ? Explain:

(6+6)

(6+6)

(6+6)

-

(6+6)
P.T.0.
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7. (@) WP € H T % e
Explain the following in MS-Word :
(2) TIFgHE B RR HE G BT
Save and print qoéument
(b) e = R S
Spelling and Grammer checking.
(c) weAd
Mé.il*merge.
(i) e H TR o SR
Explain the following in MS-Excel :
(a) THERIFET IS
Conditional formatting
() T EEA e
Entering formula and function
(c) T g |
© Chart wizard

8. Frer i @ P ofor e g Reafor e

Write short notes on any three of the following :

(i) dfeR aE H Custom Animation TUT TS ¥t ST

Custom Animation & Slide show in PowerPoint.
(i) R qe # e Wik w2

Slide sorter and Template in PowerPoint.
(i) &30, i |

e-mail, e-commerce
(iv) R AWst g&aH U.T.P.

Star topology and U.T.P.

2006

(6+6)

@x3)



